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C-920

B.Com. (Part-III) Examination, 2015

(Regular & Exempted)

APPLIED ECONOMICS

(Quantitative Economics)

Time Allowed : Three Hours ] [ Maximum Marks : 100

Note : Answer five questions in all. Question No.1

is compulsory. Attempt one question

from each of the four units. Use of calcu-

lator is allowed. Marks are indicated

against each question.

kegâue heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØeMve meb.1 DeefveJeeÙe& nw~

Ûeej FkeâeFÙeeW ceW mes ØelÙeskeâ FkeâeF& mes Skeâ-Skeâ ØeMve

keâerefpeS~ kewâukegâuesšj keâe ØeÙeesie efkeâÙee pee mekeâlee nw~ Debkeâ

ØelÙeskeâ ØeMve kesâ mece#e efveefo&° nQ~
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(4)

(g) If N = 
15

1
 Patient / minute

cejer]pe / efceveš

10

1=µ  Patient / minute

cejer]pe / efceveš

Find %eele keâerefpeS :

(i) Average number of patients in the

queue.

keäÙet ceW Deewmele mebKÙee ceW cejer]pe

(ii) Average waiting time of a patient in

queue.

keäÙet ceW Skeâ cejerpe keâe Deewmele Øeleer#ee meceÙe

(h) What is expected monetary value?

 Dehesef#ele ceewefõkeâ cetuÙe keäÙee neslee nw?

(i) Explain expected value with perfect in-

formation.

mener peevekeâejer kesâ meeLe Dehesef#ele cetuÙe keâes mecePeeFÙes~

(j) Briefly discuss types of inventories.

jnefleÙee kesâ ØekeâejeW keâes meb#eshe ceW JeCe&ve keâerefpeS~



1. Answer the following : 4×10=40

efvecveefueefKele kesâ Gòej oerefpeS :

(a) If Profit function is :

Deiej ueeYe Heâueve nw :

π = Q2 – 7Q + 64

Find %eele keâerefpeS :

(i) Average Profit function

Deewmele ueeYe Heâueve

(ii) Marginal Profit function

meerceevle ueeYe Heâueve

(b) If Marginal Revenue (MR) = 12 – 8x + x2

Deiej meerceevle Deeiece (MR) = 12 – 8x + x2

Find total revenue and demand function.

kegâue Deeiece SJeb ceeBie Heâueve %eele keâerefpeS~

(c) Production function for a Commodity is :

Glheeo kesâ efueS Glheeove Heâueve nQ:

X = 2HLK – AL2 – BK2

Find the marginal rate of substitution of L

for K.

K kesâ efueS L keâe ØeeflemLeeheve meerceevle oj keâes %eele

keâerefpeS~
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(d) Find the saddle point and optimum strat-

egies of the following games.

efvecve ›eâerÌ[e keâe mew[ue efyevog SJeb F°lece ketâšveerefle keâes

%eele keâerefpeS~

B

B
1

B
2

B
3

B
4

A
1

–3 4 2 9

A A
2

7 8 6 10

A
3

6 2 4 –1

(e) Briefly discuss the basic concepts of game

theory giving example.

GoenjCe meefnle ›eâerÌ[e efmeæevle kesâ cetue efJeÛeej keâer meb#eshe

ceW efJeJesÛevee keâerefpeS~

(f) Write the dual of the following problem:

efvecve mecemÙee keâe Éwle efueefKeS :

Max Z = X + 2Y

DeefOekeâlece

Subject to, 2X + 3Y ≥  4

ØeefleyevOe nw efkeâ, 3X + 4Y 

≤

 5

          and X, Y 

≥

 0

(2) (3)



Unit-I

FkeâeF&-I

2. Given demand function : 15

efoS ieS ceeBie Heâueve :

p = a – bx

Find %eele keâerefpeS

(i) Total Revenue kegâue Deeiece

(ii) Average Revenue Deewmele Deeiece

(iii) Marginal Revenue meerceevle Deeiece

3. Find the profit maximising output at the given

revenue & cost functions : 15

efoS ieS Deeiece SJeb ueeiele Heâueve hej ueeYe DeefOekeâlece Glheeo keâer

ieCevee keâerefpeS :

R(Q) = 1000 Q – 2Q2

C(Q) = Q3 – 59Q2 + 1315Q + 2000

Unit-II

FkeâeF&-II

4. Solve graphically, «eeHeâ mes nue keâerefpeS : 15

Minimize Z = 2x + 3y

vÙetvelece

Subject to, 36x + 6y 

≥

 108
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(8) (5)

9. Given the following Pay-off matrix : 15

efoS ngS efvecve hes-Dee@Heâ cewefš^keäme :

State of Nature Probability Acts

mecYeeJÙelee x y z

P 0.3 –120 –80 100

Q 0.5 200 400 –300

R 0.2 260 –260 600

Using the expected Monetary Values, decide

which act can be choosen as the best?

Devegceeefvele ceewefõkeâ cetuÙe keâe ØeÙeesie keâjles ngS Ùen leÙe keâerefpeÙes

efkeâ keâewve mee efJekeâuhe meJe&ßes‰ nQ?



ØeefleyevOe nw efkeâ, 3x + 12y 

≥

 36

             20x + 10y 

≥

 100

                    x, y 

≥

 0

5. Write the dual of the following Primal LP Prob-

lem : 15

efvecve ØeLece keâe Éwle jsKeerÙe DeeÙeespeve mecemÙee efueefKeS:

Max. Z = x
1
 + 2x

2
 + x

3

DeefOekeâlece

Subject to, 2x
1
 + x

2
 – x

3
 

≤

 2

ØeefleyevOe nw efkeâ, –2x
1
 + x

2
 – 5x

3
 

≥

 –6

          4x
1
 + x

2
 + x

3
 

≤

 6

    x
1
, x

2
, x

3
 ≥ 0

Unit-III

FkeâeF&-III

6. Solve the game : 15

›eâerÌ[e keâes nue keâerefpeS :

Player B

I II III IV

I 20 15 12 35

Player A II 25 14 8 10

III 40 2 10 5

IV –5 4 11 0

7. Solve the game : 15

›eâerÌ[e keâes nue keâerefpeS :

Player B

B
1

B
2

B
3

A
1

10 5 –2

Player A A
2

13 12 15

A
3

16 14 10

Unit-IV

FkeâeF&-IV

8. Compute the EOQ and the total cost from the

following: 15

efvecve mes DeeefLe&keâ DeeosMe cee$ee SJeb kegâue ueeieled keâer ieCevee
keâerefpeS :

Annual Demand 25 Units

Jeeef<e&keâ ceeBie 25 FkeâeF&ÙeeB
Unit Price Rs. 2.50

FkeâeF& cetuÙe
Order Cost Rs. 4.00

DeeosMe ueeiele
Storage Rate 1% per year

jnefleÙee oj
Interest rate 12% per year

yÙeepe oj
Obsolescence Rate 7% per year

keâeueeleerle oj

(6) (7)
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